18

Zeichnungsnummer

£120882
01022003

support

SLZ50RA




No. Article No. |Description
1 TOP80218 |flathead screw M12x100 DIN 7991
2 TOP30178  |[strap 120x480
3 TOP30344  |support latch 120x30x68
4 TOP80802 [fixation ring SW50 50x1,5
5 TOP30177 |support shaft d 50 x 174
6 TOP23242 |swivel arm unlocking system
7 TOP30165 swivel arm sliding support 5.0t
8 TOP80113  |cylindric screw M24x60
9 TOP80104 |cylindric screw M8x20
10 TOP23505 [swivel arm 5,0t
11 TOP30297 rupper support dm 120
12 TOP23476 |screw-in cup without rubber
13 TOP80101 cylindric screw DIN 912 M10x16 vz
14 TOP30164 |[swivel arm plate 5.0t
15 TOP80512  |flathut M16 vz
16 TOP80251 threaded bolt M16x60 A2
17 TOP30065 [sliding disc d 40x2
18 TOP23454  [screw-in cup @130x@045x39-78

/(r)iar(@

Zeichnungsnummer

£120882

SLZ50RA

‘orld Leader in Lift System:s
support

Stani

01022003




